¥R 21 £E EFV—h

FERTATHRESE (RHEKRGE) ELHRE | BEH AERBHR
% & 01 [ B3

HE K B £ 1 #OorAREL LR, BATHEICELES T o0, g [z |09 [BFE
B E B 4 T7ELnRONICESELIC # [ @ | o1 [UhFEEE
E A MM 2 i hadicod, haxind £LEXLFE LR TS B | B | ol |5

B RT RAL B % e e
E P %@“ 7 BB AT B DR ONE B

SIFE it 5% 0 i k) 3R 0 S it ERSHE = BT D IR

1 E2X0EM. ER

[t R 15D (7

D)=l

[BI6T£-ER](LVDFETIC, ESLVSIKEID)

=
By |ohAEREE (390N)

LHOR¥ 2l ZFRIEOL ez fHET 5,

2 ZXOXRMBER-BEREE-FE

EEER R (BE) DERE BRIREA (/A —~F—) BEREIA (/X\—hF—) DIRE|
. M FEAL 3 1 0D 3742 Je OVHEE (2 4R D 35 - e o A L o Sl g i s
[iEl i;% (é&%’—\ %fi%é\{f) %*)ﬁ ﬁﬁéﬁxk@@ff\%nﬁ%éé
3 Fpk 27 HE FE (BEONE-JAMER- BIEEIERA)
- ShHERE f gk DN EAL T FEMHF 21T 9,
 WIHEE a0 HEVE SRS O AL T EM R 24T 5 .
- R
[mA]
RN R BR B L AR A 4 19,438 FH
EPFRFEE (FEHFE100%) 38,800 T
BRSSO F A (FELFE100%) 46,100 FH
| - R
| [5m])
N X453 e H27
PN Jik g T M EHREE H 24 5
P "B I S R T R A R 1 o B P S 5,516
R R OVE AR i i B B (T EHRA) 6
I S A ] R A T A AR R 73, 959
T B S HE R R R s 25, 000
Gt 104, 486
IH H K 25 EERE TR 26 EEFE TR 27 EETE
BE 1 = £ & A 7,841, 000 104, 486, 000
" B E X & £ 19, 438, 000
- " B X H £
A 'r!q ® A £ (HE) 7,700, 000 84, 900, 000
o I = ) Hh(ERAHGEE)
1% m (L) 141, 000 148, 000
r-1 A 0.01 A 0.10 A
#H A EWEMB 85, 110 864, 900
s W E ¥ & (A+B) 7,926,110 105, 350, 900
- $®)\u GAATRBE) N 117,680 A 117,182 A
gﬁ HFRIAG D 67 899
§3®Fﬁwﬁjﬁ%@'ﬁd A 39 A 39 A
A RIEIAY-Y 203, 234 2,701, 305
. . e = N H25 H26 H27
‘=$ B RR TR 1
=
e
o B[R e =R % 100
2




